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QUESTION 1

Which Aruba solution uses Bluetooth Low Energy to precisely track the location of mobile users through their mobile
devices?

A. Aruba Asset Tags

B. Aruba APs in Air Monitor (AM) mode

C. Aruba Beacons

D. Aruba APs in Spectrum Monitor (SM) mode
Correct Answer: C

Reference: https://www.hostingadvice.com/blog/aruba-enhances-engagement-through-beacontechnology/

QUESTION 2

Which customer statement indicates that you have an ideal opportunity for selling an Aruba mobile engagement
solution?

A. "Airports are known for being a hassle, but we want to change this. We would like to give travelers a way to find
parking, navigate to their gate on a map, and find deals."”

B. "We want to use technology to accelerate student learning, but to achieve this we need a network that gives priority
handling to collaboration and multi-media apps.”

C. "We are a fast paced game design company, but developers have been complaining about unresponsive
applications, and we think that a slow network is to blame."

D. "Our business is ever-expanding and we have added so many new mobile devices and so much wireless equipment
that our admins cannot keep track of them. We need a way to simplify management.”

Correct Answer: B

QUESTION 3
Which statement indicates that a customer could be a good fit for an Aruba location-based solution?

A. "Our apps are a big part of our businesses, but our production rate is starting to slow down as we hire new
developers that just are not familiar with our development tools."

B. "We are a large business with lots of remote offices. We need to ensure all the network services that we provide in
our main campus are available in these other locations as well."

C. "We have many different branch sites, and we need an easier way to apply consistent and appropriate security
policies to employees and users at every location across our network."

D. "We often launch marketing campaigns in different areas of our stores, but we don\\'t have a way to determine how
successful these promotions are and if they draw in customers.”
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Correct Answer: D

QUESTION 4

What is one key way that Aruba IntroSpect enhances security for a customer network?
A. It enforces role-based policies to ensure the right users connect to the right resources.
B. It provides an enhanced guest portal with user identification and tracking features.

C. It inspects all traffic and ensures that sensitive data is securely encrypted.

D. It ties security alerts to the user or device identify associated with the alert.

Correct Answer: C

QUESTION 5

What is a benefit that Aruba Mobility Master (MM) and an ArubaOS architecture bring to network management?

A. MM provides a centralized licensing repository and a single interface for configuring controllers.

B. MM offers a single management interface for configuring wireless devices and onboarding user wireless devices.
C. Customers can obtain a flexible, cloud-based option for managing their controllers centrally.

D. Admins can manage ArubaOS switches and ArubaOS controllers from the same management interface.

Correct Answer: D

QUESTION 6

A customer needs a network infrastructure upgrade.

Which characteristic should you use as the primary deciding factor between proposing HPE OfficeConnect
or Aruba solutions?

A. whether the customer requires 802.11ac

B. the company vertical

C. the company size and number of users

D. whether the customer requires wired or wireless access

Correct Answer: C

QUESTION 7
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A mid-sized customer is having trouble deciding between in a controllerless Aruba solution and a controller-based one.
What can you explain to the customer about how Aruba protects the company\\'s investment?

A. The same Aruba APs can be deployed in controllerless Instant mode and then later changed to controlled mode.

B. Aruba offers a buy-back program for controllerless Instant APs, making it cost effective to later deploy controlled
APs.

C. There is no difference in features and capabilities between a controllerless and controller-based Aruba solution.

D. Aruba uses a cloud subscription-based licensing model for controllerless APs, and these licenses can be upgraded to
controller licenses.

Correct Answer: B

QUESTION 8

You are proposing an Aruba controller-based solution for a customer.

Which customer need indicates that you should propose Aruba Mobility Master as part of the solution?
A. the need to simplify the development of customer-facing mobile engagement apps

B. the need to manage wired and wireless devices from one interface

C. the need for machine-learning-based insights into network health and connectivity

D. the need for always-on wireless connectivity with no downtime

Correct Answer: B

QUESTION 9

What is one challenge for business that adopts cloud solutions?

A. Cloud is less reliable than on-premises infrastructure because data is stored in a central location.

B. Cloud increases security vulnerabilities, with employees accessing resources off-premises and using shadow IT.

C. Customers must increase their IT management resources because cloud adds complexity to the network
infrastructure.

D. Customers must make a large capital investment when they initially adopt a public cloud solution.

Correct Answer: B

QUESTION 10
What correctly describes the addressable market for SD-WAN and the opportunity that it presents?

A. While the SD-WAN market experienced rapid growth over the past 5 years, the market is now slowing down and
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experiencing a small reduction in growth.

B. While the SD-WAN market is much smaller than the campus switching and WLAN market in absolute value, the SD-
WAN market is growing more rapidly.

C. The SD-WAN market is experiencing slow growth at rates comparable to the campus and switching market as a
whole, and it should peak in the next 5 years.

D. The SD-WAN market is experiencing very rapid growth and will overtake the campus switching and WLAN markets in
absolute value within the next 2 years.

Correct Answer: A

QUESTION 11

You want to purpose an Aruba switching opportunity with a customer.
What is a good question for opening the discussion?

A. What are your plans to expand and secure your network?

B. How do your users feel about Internet of Things (loT) devices?

C. Is your wired network ready to support location-based services?
D. How much energy do your current network devices consume?

Correct Answer: A

QUESTION 12

A customer is concerned about unique Aps and wireless denial of service (DoS) attacks.
Which Aruba security feature should you discuss?

A. Policy Enforcement Firewall (PEF)

B. IntroSpect

C. deep Packet Inspection (DPI)

D. RFProtect

Correct Answer: D

Reference: https://www.arubanetworks.com/products/security/wireless-intrusion-protection/

QUESTION 13

A customer needs a wired solution upgrade. Which characteristic indicates a good prospect for an Aruba switching
solution?
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A. The customer has found cloud applications to be too expensive and wants to limit their use.

B. The customer needs a wireless upgrade as well and wants better wired and wireless integration.

C. The customer considers cost the primary concern and is not worried about performance, security, or visibility.
D. The customer is a small business with about 60 employees and needs a simple, plug-and-play solution.

Correct Answer: B

QUESTION 14

A customer is not sure about the additional benefits of an Aruba Mobility Master (MM)-based architecture.

What is one advantage that you should emphasize?

A. Aruba MM adds built in network access control with micro-policies that enhance both security and user experience.

B. Aruba MM enables Aruba AirMatch, which better optimizes RF in dense environments than simple Adaptive Radio
management (ARM).

C. Aruba Connectivity Health, which is embedded in MM, helps admins detect network issues before they cause
problems.

D. Aruba mobile engagement and location-based services are powered by the software platform and app dev kit in MM.

Correct Answer: B

QUESTION 15
You are proposing an Aruba wired and wireless solution to a customer. After a discussion about Aruba ClearPass and
IntroSpect, a member of the security team asks about security measures that go beyond software solutions. What is one

advantage of Aruba Secure Infrastructure that you should emphasize to this technical influencer?

A. Silicon root of trust creates a digital fingerprint in the silicon of ArubaOS switches to ensure they will never boot with
compromised hardware.

B. Connectivity Health collects and compiles information about switch configuration, protocol, and system state and
uses machine learning to compare this information to baseline figures.

C. An Aruba infrastructure reduces the likelihood traffic can be intercepted with centralized encryption and deep packet
inspection.

D. Aruba controlled APs maintain a distributed policy engine that defines who and what devices can connect to which
data, infrastructure, and applications.

Correct Answer: C

HPE2-W02 PDF Dumps HPE2-WO02 Practice Test HPE2-WO02 Study Guide

HPE2-W02 PDF Dumps | HPE2-WO02 Practice Test | HPE2-W02 Study Guide 6/6


https://www.pass2lead.com/hpe2-w02.html
https://www.pass2lead.com/hpe2-w02.html
https://www.pass2lead.com/hpe2-w02.html
http://www.tcpdf.org
https://www.pass2lead.com/hpe2-w02.html
https://www.pass2lead.com/hpe2-w02.html
https://www.pass2lead.com/hpe2-w02.html

